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QUESTION 1

What os the maximum number of 2-node clusters that can share a vSAN Shared Witness host in vSAN 7.0 U1?
A. 64

B.1

C.128

D. 32

Correct Answer: A

QUESTION 2

A VSAN administrator wants to install a patch on an existing vSAN cluster. The environment runs vSphere 7.0, and the
patch contains ESXi 7.0 Update 1c. The vSAN administrator will use vSphere Lifecycle Manager images to add the
patch to the proper image and apply it to the vSAN cluster.

Which action should be performed before patching the ESXi hosts in the vSAN cluster?

A. Upgrade the Platform Services Controller.

B. Perform a disk format upgrade.

C. Create a baseline instead of using images.

D. Upgrade the vCenter Server.

Correct Answer: D

QUESTION 3

An administrator must choose between deploying a virtual witness or physical witness for a vSAN Stretched Cluster.
The administrator eventually decides to use a virtual withess.

What is a benefit of selecting this approach?

A. Reduced vSphere licensing

B. Additional compute capacity for running VMs
C. Shared metadata between separate clusters
D. Increased vSAN datastore capacity

Correct Answer: A
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QUESTION 4

The cluster level backend IOPS performance graph shows a higher-than-average number of IOPS for back-end
storage.

What is a possible reason for this situation?

A. Data resynchronization is in progress.

B. DRS is invoking multiple vMotion migrations.

C. There is VM storage 1/O traffic.

D. Not enough capacity for slack space is on vSAN datastore.

Correct Answer: A

QUESTION 5

After a recent data loss event, the IT department plans to deploy a DR site using vSphere Replication with vSAN
providing the storage backend.

The architect would like to know how many components will be created based on the following configuration:
2x 100 GB VMDK RAID 1 vSAN Storage Policy 4x Point in Time snapshots

How many components will be created?

A. 32

B. 24

C.16

D.8

Correct Answer: B
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